

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: March 18, 2024

	n 2, 2024 Original Contract Amount n 15, 2024 Net Change Order Amount Current Contract Amount		ontract ID 230818-A08 rime Contractor Gene Haile Excav	ato Italiiboi	Progress Estima					
By User		Approval Date								
anderl1	ed Draft) at the Project Office Level by	Approved (and should be considered	Generated and		March 18, 2024					
stronk1	aft) at the Resident Engineer Level by	oved (and should be considered Dra	Reviewed and App		March 18, 2024					
ramses1	ntral Office Controllers Office Level by	Reviewed and Approved at the Cer			March 19, 2024					
nt Complete	% of Current Contract Amoun	Actual Completion Date	Current Completion Date	Original Completion Date						
	87.25%	August 1, 2024 August 1, 2024 87.25%								

	Milestones		
Date Description	Original Completion Date	No Milestones Exist for Contract	
Acceptance Date			
Awarded Date	September 7, 2023	September 7, 2023	
Letting Date	August 18, 2023	August 18, 2023	
Notice to Proceed Date	September 18, 2023	September 18, 2023	
Open to Traffic Date			
Work Began Date			

Contract Total Pay For Estimate No. 8									
		This Estimate	Previous	To Date					
230818-A08									
	Total Posted Items Pay	\$141,139.00	\$955,628.60	\$1,096,767.60					
	Gross Item Adjustments	(\$22,304.50)	(\$10,778.08)	(\$33,082.58)					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
	•		\$944,850.52	\$1,063,685.02					
Contract Total Pa	avable This Estimate:	\$118.834.50							

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
JNW0007	0350	7034216	TYPE H BARRIER	LF	\$75.000	441	\$33,075.00				
	0360	7034221	SLAB ON CONCRETE NU-GIRDER	SQYD	\$340.000	242.4	\$82,416.00				
	0380	7061060	REINFORCING STEEL (BRIDGES)	LB	\$1.600	7,980	\$12,768.00				
	0390	7123610	SLAB DRAIN	EA	\$460.000	28	\$12,880.00				
Project JNW0007	Project JNW0007 - Total										
Overall - Total		\$141,139.00									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNW0007	0220	SILT FENCE	MaterialCredit			569	\$4.00	\$2,276.00
	0300	GALVANIZED CAST-IN- PLACE CONCRETE PILES (16 IN)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',175.00000 - 175.00000, 'is applied (if non-zero).	48.54	\$175.00	\$8,494.50
	0350	TYPE H BARRIER	Material			-441	\$75.00	(\$33,075.00)
Total								(\$22,304.50)

Revision 3/23/2023 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
JNW0007	FAS- S102(069)	Bridge replacement	YY	GENTRY	over Bear Creek, 1.5 miles north of Gentry							
Totals by J	ob Numbers	i										
JNW0007		ltem Pay tem Adjustmer		tem Pay	This Estimate \$141,139.00 (\$22,304.50) \$118,834.50	Previous \$955,628.60 (\$10,778.08) \$944,850.52	To Date \$1,096,767.60 (\$33,082.58) \$1,063,685.02					
			mente		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 3/23/2023 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNW0007, Item 7034216, Project Item Line Number 0350, Material Set 703421696, Material 1057JMJCSS - Silicon Sealant for Sawed/Formed Jnts @, Acceptance Action Generic 1057JMJCSS is insufficient.	Barrier was placed on March 14th of 2024. As of 12:45 PM on 3/18, no air or slump has been reported by QC. In turn all have been acknowledged.	anderl1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNW0007, Item 7034216, Project Item Line Number 0350, Material Set 703421696, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Barrier was placed on March 14th of 2024. As of 12:45 PM on 3/18, no air or slump has been reported by QC. In turn all have been acknowledged.	anderl1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNW0007, Item 7034216, Project Item Line Number 0350, Material Set 703421696, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Barrier was placed on March 14th of 2024. As of 12:45 PM on 3/18, no air or slump has been reported by QC. In turn all have been acknowledged.	anderl1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNW0007, Item 7034216, Project Item Line Number 0350, Material Set 703421696, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Barrier was placed on March 14th of 2024. As of 12:45 PM on 3/18, no air or slump has been reported by QC. In turn all have been acknowledged.	anderl1	Acknowledged

Revision 3/23/2023 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

: Posted Quantiti	es and Va	ues are b	pased on Re	eport Generated date and can differ from the posted amo	unt at the	time the	Estimate w	as Gene	erated.		
Contract Proje		ry Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
18-A08 JNW0	007 0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	0.60	\$5,500.00	\$3,300.0
	0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.50	\$5,000.00	\$2,500.0
	0001	0030	2031000	CLASS A EXCAVATION	365.00	0.00	365.00	CUYD	86.10	\$12.00	\$1,033.2
	0001	0040	2036000	COMPACTING EMBANKMENT	26.00	0.00	26.00	CUYD	8.50	\$77.00	\$654.5
	0001	0050	2037075	COMPACTING IN CUT	1.40	0.00	1.40	STA	0.00	\$1,500.00	\$0.
	0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	268.00	0.00	268.00	SQYD	0.00	\$26.00	\$0.
	0001	0070	4019905	MISC.OPTIONAL PAVEMENT	268.00	0.00	268.00	SQYD	0.00	\$125.00	\$0.
	0001	0080	6113020	FURNISHING TYPE 2 ROCK BLANKET	1,155.00	0.00	1,155.00	CUYD	693.00	\$62.00	\$42,966.
	0001	0090	6113040	PLACING TYPE 2 ROCK BLANKET	1,155.00	0.00	1,155.00	CUYD	693.00	\$10.00	\$6,930.
	0001	0100	6161005	CONSTRUCTION SIGNS	109.00	0.00	109.00	SQFT	109.00	\$11.00	\$1,199.
	0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$110.00	\$440.
	0001	0120	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$210.00	\$2,100.
	0001	0130	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	2.00	0.00	2.00	EA	2.00	\$4,200.00	\$8,400
	0001	0140	6181000	RETAINED MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$121,400.00	\$121,400
	0001	0150	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	3.00	0.00	3.00	EA	0.00	\$600.00	\$0
	0001	0160	6206001C		2,404.00	0.00	2,404.00	LF	0.00	\$1.50	\$0
	0001			MARKING PAINT, TYPE P BEADS							
	0001	0170	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,666.00	0.00	1,666.00	SQYD	999.60	\$2.50	\$2,499
	0001	0180	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.80	\$6,000.00	\$4,800
	0001	0190	8025006	MULCHING	1.00	0.00	1.00	ACRE	0.00	\$1,500.00	\$0
	0001	0200	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	0.00	\$2,250.00	\$0
	0001	0210	8061016	SEDIMENT REMOVAL	21.00	0.00	21.00	CUYD	0.00	\$10.00	\$0
	0001	0220	8061019	SILT FENCE	640.00	0.00	640.00	LF	569.00	\$4.00	\$2,276
	0001	0230	8061050	TYPE C BERM	143.00	0.00	143.00	LF	24.40	\$12.00	\$292
	0040	0240	9031250A	U-CHANNEL POST, 3 LB	144.00	0.00	144.00	LF	0.00	\$32.00	\$0
	0040	0250	9035004A	SH-FLAT SHEET	36.00	0.00	36.00	SQFT	0.00	\$58.00	\$0
	0070	0260	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	22.00	0.00	22.00	SQFT	22.00	\$350.00	\$7,700
	0070	0270	2061000	CLASS 1 EXCAVATION	65.00	0.00	65.00	CUYD	65.00	\$50.00	\$3,250
	0070	0280	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$34,000.00	\$34,000
	0070	0290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	110.00	0.00	110.00	SQYD	0.00	\$285.00	\$0
	0070	0300	7021316	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	620.00	48.54	668.54	LF	668.54	\$175.00	\$116,994
	0070	0310	7021320	GALVANIZED CAST-IN-PLACE CONCRETE PILES (20 IN)	760.00	-59.12	700.88	LF	700.88	\$195.00	\$136,67
	0070	0320	7025001	DYNAMIC PILE TESTING	4.00	0.00	4.00	EA	3.00	\$6,750.00	\$20,250
	0070	0330	7027000	PILE POINT REINFORCEMENT	20.00	0.00	20.00	EA	20.00	\$100.00	\$2,000
	0070	0340	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	46.60	0.00	46.60	CUYD	46.60	\$700.00	\$32,620
	0070	0350	7034216	TYPE H BARRIER	441.00	0.00	441.00	LF	441.00	\$75.00	\$33,075
	0070	0360	7034221	SLAB ON CONCRETE NU-GIRDER	606.00	0.00	606.00	SQYD	575.70	\$340.00	\$195,738
	0070	0370	7056021	NU 35, PRESTRESSED CONCRETE NU-GIRDER	603.00	0.00	603.00	LF	603.00	\$460.00	\$277,380
	0070	0380	7061060	REINFORCING STEEL (BRIDGES)	7,980.00	0.00	7,980.00	LB	7,980.00	\$1.60	\$12,768
	0070	0390	7123610	SLAB DRAIN	28.00	0.00	28.00	EA	28.00	\$460.00	\$12,880
	0070	0400	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$3,000.00	\$1
				DI ANALYSE DE ABANG DAD	6.00	0.00	6.00	EA	6.00	\$275.00	\$1,650
	0070	0410	7161000	PLAIN NEOPRENE BEARING PAD	0.00	0.00	0.00	L/	0.00	Ψ210.00	ψ1,000
	0070	0410	7161000	PLAIN NEOPRENE BEARING PAD LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$750.00	\$9,000

Revision 3/23/2023 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JNW0007

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0350	7034216	TYPE H BARRIER	3/14/24	3/18/24	441.00	LF	YY bridge deck.	0.00		0.00		Barrier placed on both sides of bridge.
0360	7034221	SLAB ON CONCRETE NU-GIRDER	3/5/24	3/8/24	242.40	SQYD		415+86.88		417+92.38		Deck placement was completed. According to 703.2 of the EPG payment of 35% should be paid for concrete placement. This would amount to 2/21.15 Y. This would amount to 2/21.15 Y. This would not amount to 95% of the line item complete, only 90% would be completed, so it is believed that only 10% would be completed, so it is believed that only 10% payment was made for the rebar placement, so another 5%, 30.3 SY will also be added. In turn 242.4 SY's are paid on today, briging Line litem to 95% complete.
0380	7061060	REINFORCING STEEL (BRIDGES)	3/15/24	3/18/24	7,980.00	LB		415+86.88		416+49.63		All substructure has been placed.
0390	7123610	SLAB DRAIN	3/15/24	3/18/24	28.00	EA		415+86.88		416+49.63		All barriers were placed into the deck.

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 5 of 7

Mar 20, 2024



Line Item Adjustments by Estimate

Contract ID: 230818-A08

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNW0007	0030	CLASS A EXCAVATION	Price FUEL		6	Feb 16, 2024	SYSTEM	(\$7.58)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$7.58)	
			Price FUEL - T	otal				(\$7.58)	
	0030 -	Total						(\$7.58)	
	0220	SILT FENCE	Material		7	Mar 4, 2024	SYSTEM	(\$2,276.00)	
				- Total				(\$2,276.00)	
			Material - Total					(\$2,276.00)	
			MaterialCredit		8	Mar 18, 2024	SYSTEM	\$2,276.00	
				- Total					
			MaterialCredit	- Total				\$2,276.00	
	0220 -	Total						\$0.00	
	0300	GALVANIZED CIP CONCR PILES (16 IN)	Overrun	Overrun	4	Jan 17, 2024	SYSTEM	(\$8,494.50)	
					8	Mar 18, 2024	SYSTEM	\$8,494.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',175.00000 - 175.00000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - Tota					\$0.00	
	0300 -	Total						\$0.00	
	0340	CLASS B CONCRETE (SUBSTRUCTURE)	Material		5	Feb 2, 2024	SYSTEM	(\$15,540.00)	
		(SUBSTRUCTURE)		- Total				(\$15,540.00)	
			Material - Tota					(\$15,540.00)	
			MaterialCredit		6	Feb 16, 2024	SYSTEM	\$15,540.00	
				- Total				\$15,540.00	
			MaterialCredit	- Total				\$15,540.00	
	0340 -	Total						\$0.00	
	0350	TYPE H BARRIER	Material		8	Mar 18, 2024	SYSTEM	(\$33,075.00)	
				- Total				(\$33,075.00)	
			Material - Tota					(\$33,075.00)	
	0350 -	Total						(\$33,075.00)	
JNW0007	- Total							(\$33,082.58)	
Overall - T	otal							(\$33,082.58)	

MoDOT

Contract Adjustments for Contract - 230818-A08

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 7 of 7